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Bookiet A
Methodist Gis' School { Primaryl, 75 SA1 2007

Questions 1 {o 10 carry 1 maik each. Questiors 11 © 15 cany 2 marks each. For each
guestion, four options are given. One of them is 1he comect answer. Make your choice
(1.2, 3or} Shade the oval {1, 2, 3 or 4j on e Onptical Answer Sheet.

(20 marks)

1. Six million, four hundred and ten thousand in numerals is _

(1) 6000410
(2) 5004610
(3) 6400010
(4) 6410 CQO

2. Cyaluaie 100 {46+ 2+ T x 2

(1) 41

3. A number when rounded off to the nearest huntGred becomes 43 004,
Which one of the following can be that mumbar?

(1) 42848
(2) 42804
(3) 42953
{4) 43 108

4
4. How many metres are therein g km 7

(1) 8m
{(2) 80m
{3) BCOm
{4) 8CG0m
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How much drink was in the canister?

{3)

4

1 ;
What must be added to 2 3 to get 5% ?

(1)
(2)
3)

4)

e s a3 . . A b
John divided 3 of a pizza eque'ly » 10NG 3 children.

2

-~ W
N s Do

-\2
i

How much pizza would each chiu get?

(1)

(2)

(3)

(4)

Bafwr

ES IR R

4=
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e L 2
yrup intc a canister that was filed with 53 ! of water.
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11.

Bookist A
Nethodist Girs' Schoal (Primary), P8 SAT 2007

A 4-om square is cut ocut from the corner of a recienguisr piece of paper
14 om by § cm. Find the perimeter of the remaining piece of paper.

4 cm
S
1) 2Bcm : 1
{2) 33cm :
3 3Bom :
{4} 46 cm

i

A lank measuring 60 cm by 70 cm by 40 cm is hali-filed with water.
How much water is there in the tank? (1 litte = 1 000 cm’)

{1} 84 htres
{2) 85 ltres
(3) 188 litres
(4} 170 litres

In the figurs, not drawn to scaie, AYisa straight line.

Fihd 2 p.
X Y
) 30°
{2) 60";‘
{3) Qo
(4) 120°

Jennifer reads 12 pages of her book every day. If this book has 272 pages, she
will finish reading her bookonthe ___ day. '

(1) 21
{2) 22™
(3) 23"
(4) 24"

Page 3 of 21 (Go on to the next page)
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13.
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15.

Booldet A
Methodist Giris' Scheol {Primary}, P5 844 2007

Al 2 recent bookfalr, books were seld at 5 for $4. Sarah bought 15 bocks.
She paid with a $100-ncte. How much change did Sarah receive?

(1} 32
(2y 340
3) $80
4) $80

1
in a box of 60 pens, y are blue and the rest are black.

How many maere black pens than blue pens are there?

(y 2
(2) 15
(3 30
{4y 45

What is the area of the shaded figure?

Z2cocm

(1) 8cm?

2) 18 em’
(3) 24 em?
(4) 32 cm?

The sides of a tiangle areintheratio 2:3:7.
i the shortest side is 4.cm, what is its perimeter?

)] 2cm
{2) 14 cm
{3) 24 cm
(4) 48 cm
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Total time for Booklets
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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TC DO SO.
FOLLOW THE INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.



Methodist Girls’ School {Primary), F5 SA’

'8 V4]

Quesiions 18 to 25 carry 1 mark cach. Write your answars in the spaces provided. For
nuestions which require units, give your answets in the units stated. (10 marks)

16. Afhat must oo added to 89 to make a miliion”?

Ans:

17. Find the sum of the first 2 common multiples of 4 and 8.

Ans:
18. Reound off the difference between 13 887 and 8 423 to the nearest thousand.
Ans:

18, Write the smallest possible 5-digit number using 5. different digits.

Ans:

Page 5 of 21 {Go on fo the next pége}



Baoijet B
Methodist Girds' Schoo! {Primary), P5 SA1 2007

- . . - 2
. The area of a rectangular wooden plank is 220 o’

find fe fengin # s breadin is 11 om.

Ans: . cm

21 The volume of ine following rectangular dox s 324 cm®. Find its height if fis base

area is 81 om’.

Ans cimn
USRS N RS B 6
22, 15 ¥ I5 + 15 .15—.E] X 5
What is the missing number in.the box?
Ans: I

23. Arrange the fraclions in ascending order, from the smallest to ine largest.

5

3
46

1 |

o~

Page 8 of 21 (Go on to the next page)



Booklet BT

Lisihodist Gids' School (Primary), Pb SA1 2007
24 What fraction of the rectangle is shaded? Express your answer in the simplest form.
Ans:
25 Jane weighs 60 kg. Her sisteris 12 kg heavier.
Find the ratio of Jane’s weight {0 her sister's weight.

g

Express your answer in the simpiest for

Page 7 of 21 (Go on to the next page)



PBookisf 827

i ’15 School (Primary}, 5 S,Aq‘ 2007
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Quesno% 26 b 3% carry 2 marks each. Show yous e ! ng cle
quastin it Your answers in ihe spaces p “'«*"Ef‘ g. For quest.o” w,.ich require Unis,
give your answels in ihe units stated.

26. Astiay was given $522. She had $18 ieft after 2 weeks. if she had spent the samea
amount of monay each day, how much did she spend each day?

27. iisa has 12 fimes as much Mmonsy a3 Melody.
If Lisa has $132 more than Melody, how much money does Lisa have?

Ans: $

————n

28. tiicheile bought 416 pasties for a party.
Each guest ate 4 pasiries and there were 20 pasiries left.
How many quests wers there?

% Cr _ Ans:

Page 8 0f 21 {Go onto the next page)
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Bocklet B1
tethodist Girls' School (Frimery), P SAT 2007

s

+ total volume of some metal bails is 270 cm”. These melal balls are then meited
: -ecast into 3-cm cubes. How many cubes will there be?

Ans

30, The perimeter of a rectangle is 4 cm. s length is 24 cm.
What is the area of the rectangle?

Ans: om?
31. Express 48 finutes as a fraction of 3 hours.
Give your answer in the simplest form.
Ans:
Page 9 of 21 (Go on 1o the next page}
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Pookiet 81

Methoctist Girle” School {Primary), PG SAT 2007

32, How rany eighiths ars there in 2 T 7
Ans: eighths
-y A .i - H T
33 if 5 of a number is 6, whatlis hal the number?

Ans:

34. The ralic of two ﬂumbers,. is5: 2. The sum of the two numbers is 12 more than their

difference. Find the sum of the two numbers.

Ans:

Page 10 of 21 {Go on to the next page)



Bookiet Bi
Methodist Girls' School (Primary), PS5 SAT 2007

35. The figure helow is not drawn to scale. AB. CD and FF are straight fines.
Find £ o
™~
‘\ .
(: —
e
e .//
B
Ans: :
Page 11 0of 21 {Go on to the next page}
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Methodist Girls' School (Frimary) 3
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42 38 o 48, show your working clearly in the space provided for each

ied write your answers in the spaces provided.

+ of marks available is shown in the brackets [ ] at the end of each question
{50 marks}
36. 5 years from now, Jenny will be twice as old as Karen.
Karen was born eleven years ago.
How old is Jenny now?
Ans: 31
37. When a bus left ihe interchange, there were 42 pupils in the bus,
At the first bus-stop, 8 boys boarded the bus.
As a result; the number of boys was equal to the number of girls.
Ai the nexi bus stop, 12 girls got off.
How many girls were left in the bus?
Ans: I3}
Page 12 of, _Zﬁif}_ (Go on to e next page)



Beeliiet B2
fpthodist Girls' School { Primary), F5 SAT 2007
i A R

a8, T sold 24 rubber ducks on Thursday.
; 2 . .
e sold g of the remaincer on Friday.

' v 5tili Dad 99 rubber ducks to be sold on Saturday, how many rubber duicks
did he havg at first?

&}

Ans;

39. Carrie and Dianag had some Daper oranes iy the ratio 5: 3.
Carrie gave half of her paper cranes to Diane.
Diane-then had 24 more paper cranes than Care.
How many paper cranes did they have altogether?

< Ans: {31

Page 13 of 21 (Go on to the next page)



Boolkist B2
Aethodist Girs' School (Famary), 5 SAT 2007

44, 2 AQC and .2 BOD are right angles. Find £ v

/ C
4
/
Mww—m
e}
Ans: 3]

41, Weiling had a total of 180 marks for English and Chinese in her mid-year
- exarnination. She had a total of 170 marks for her Chinese and Mathematics.
She had 4 more marks for Chinese than English. How many marks did she get

for Mathematics?

Ans: 4]

Page 14.0f 21 (G0 on to the next page)
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Bociist B2
stathodist Girls® School (Primary), 5 SAT 2607

47, i pidah saved 33 200, Giaco saved $450 iess than Fajidah.
Huinin saved 4 fimes as much as monsey as Grace.

&y How much money did Huiimin save?

b} How much did the 3 girls save altogether?

__[2m]

Ans: a)

[2m]

by~

pPage 15 of 21 {Go on io the next page)



Booklet 82
Methodist Giris' Sehool (Primmary), P& SAT 2007

Sanini had $26 more than Nunl
After Santhi receivad ancther $35 and iNunil spent $65, Santhi then had 7 times
as much money as Nurul. How much money did Nurul have at first?

Ans: 4]

Page 16 of- 21, (Go on to ths next page)
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Booklet B2
tiethodist Gils’ School (Primary}, P5 SAT 2007
A

Mis Lee spent 3120 on a watch, She spent = of her rermnaining money on a bay

~

of shoes. i she had %

first?

of his money left, how much money did Mrs Lee have al

Ans: 4]

Page 17 of 21 (Goonto the nexi page)



Bookizt B2

Methodist Girls’ Schee! (Primary), F6 SAT 20607

A box measuies 56 cm long, 23 cm wide and 106 cm high. Ella wants to fii the
box with as many cubes as she can. Each cube has a volume of 84 cm™.
Wat is the maximum number of cubes that Ella can fill the box with?

AL,

Ans: iH

Page 18of 21 {Go on to the nexi page)



Bookist B2
Viethodist Girls' Schodl [Frimary}, Pb SAT 2007

, . » _ 3 9€ s | A“F
as, A box contained 32 and 33 notes. 7 the number of 32 notes is equat to 7 the
N 34

number of $5 notes. There i5.a total of 315 notes in the box. Find the total value
of ali the notes in the box

> | Ans: | 5]
Page 18 of 21 {Go on to the next page)



Booklet B2
Methodist Girls’ Schoof {Primary), P& SAT 2007

?

: . , . 3 .
47. A jug contains 4 litres of water. When Rache! poured g of the water into an

' . . 3.
empty rectangular container, the rectangular container became 7 full.

Find the height of the container if its base area is 500 em?. (1 ftre = 1 000 cm)

Ans: 51

Page 20 of. 21 {Go on to the next page)



Bockiet B3
tethodist Girls’ School (Primary), 5 5A1 7007
A

— e

e

The figure beiow is made up of a rectangle and a circle.
The ratio of the shaded area of the figure fo the area of reciangle is 3¢
“The ratio of the shaded area to the area ofthecircleis 1: 5.

_ The shaded area is 27 am’”. '

o

-~ a) Find the area of the circie.
~bY Find the ratio of the shaded part of the figure to the fotal unshaded parts

of the figure.

Ans: a) 2}
3

by .
© End of Paper @

a3
_ Please check your work.

o
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£y



36.

Methodist Girls” Primary School

Primary 5 Maths SA$ Exam (2607}

Y 02 Q3 04 05
4 3 3 3 4
6 Q7 Q8 Q9 QLo
i 1 4 1 2
Q1 Q12 Qi3 Ql4 €215
3 4 3 i 4 _ _ 3
9499501 17. 24
000 19, 19234
20em 21, dem
13 s 7
4 L R I
i
2 25 5: 86
$36 27, 3444
9% guesis 29. 10 cubes
I
i92¢em? 31 g
18 cightths 32. 18
21
320 + 51° = 83°
ig0° — 83° = 97°
i1 +5 =16
i6 x 2 = 32
32 - 5=127

Jenny is 27 years old now.

Page 1ot 3



7.

39.

41.

42a.

42b.

42+ 8 = 50
50 7 2 =25
25 12 = 13

B3 pirky werc left

99 - 2 = 33
33 x 3 =163
65+ 24 = 189
He had 189 rubber ducks ai first.

H-5=6
24 14 =6
10 +6 =16
4x 16 =64

They had 64 paper cranes aifogether.

a0 — 37° = 53°
53° x 2 = 186°
166 + 37° = 143°
2E0° — 143° =217°
Ly = 217°

180° — 40° = 176°

176 2 — B8°

88° + 4° = 92°

76 — $I° = 78°

Weiling got 78 marks for Maths.

'$(3200 — 450) = $2750

32750 x 4) = 511600
Huimin saved $11000

(3200 + 2756) = 55950
$(5950 + 11000) = 3516950
The three pirls saved 516950 altogether.

26 +35 = 61
61 + 65 = 126
7-1=6

126 = 6=23
21 + 65 = 86

Nurul had $86 at first.

Page2of 3



44, 120 % 3 = 40
40 ¥ 10 = 400

Mirs Lee had 3400 a1 Hirst.

FJ]
¢

5 — 4 513

106 = 4 = 26 1l

14x 5x26 = 1826

Fiia can fill the box 1820 cubes,

46, 3(315 = 21) = 815

$(15 x 5) = $75°

$(16 = 15) =5240
5(75 x 5) = $375
5(240 x 2) = 3480

$(375+ 486) = BB55
The value of the notes is 5355

47. 4000 — 5 = 840
860 x 3 = 2400
2460 + 800 = 3208
3200 = 500 = 54
The height is 0.4m

48a. 27 x5 135
The aren of ihe cirele is 135¢m?

48L. 3 ;017
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